# REDUCED DIFFERENTIAL TRANSFORMS APPROACH FOR HIGHLY NONLINEAR SYSTEM OF TWO DIMENSIONAL VOLTERRA INTEGRAL EQUATIONS 

A. SARAVANAN ${ }^{1}$, N. MAGESH ${ }^{2}$ AND A. JOHN CHRISTOPHER ${ }^{3}$<br>${ }^{1}$ Department of Mathematics, Sona College of Technology, Salem - 636 005, India. E-mail:mathsaran@gmail.com Tel.No. 9790618865<br>${ }^{2,3}$ P.G. and Research Department of Mathematics, Government Arts College (Men), Krishnagiri - 635 001, India.<br>E-mail:nmagi2000@gmail.com Tel.No. 9487819138


#### Abstract

Analytical solution of highly nonlinear system of two dimensional Volterra integral equations is studied by the reduced differential transform method [RDTM]. We present a new property of RDTM to acquire the recursive relation which is used to get analytical solution of the above mentioned two dimensional system. Results of the numerical examples obtained by RDTM are compared with the existing results obtained by TDDTM. Though solutions obtained by RDTM and TDDTM are same, RDTM has significant advantage over TDDTM that is RDTM generates the solution of the nonlinear problem by operating the multivariable function with respect to a desired variable only not on all of their independent variables unlike in TDDTM so that RDTM reduces the time consumption than TDDTM. Keywords and Phrases : Reduced differential transform method, Volterra integral equations. 2010 Mathematics Subject Classification: 65R20.


## 1. Introduction and Preliminaries

Numerous science and engineering fields like electric circuit analysis, elasticity, electromagnetism and electrodynamics, heat and mass transfer, visco elasticity, chemical and electrochemical process are modeled by the two dimensional highly nonlinear system of integral equations [1] - [6]. Motivated by these applications, we consider the following system of two dimensional nonlinear Volterra integral equations [7],

$$
\begin{equation*}
f_{i}(x, t)+\sum_{j=0}^{n} \int_{0}^{t} \int_{0}^{x} k_{i, j}\left(x, y, r, s, u_{j}(r, s)\right) d r d s=u_{i}(x, t), i=1,2,3 \cdots \cdots, n \tag{1.1}
\end{equation*}
$$

where $u(x, t)$ is unknown function, $k_{i, j}\left(x, y, r, s, u_{j}(r, s)\right)$ and $f_{i}(x, t), i, j=1,2, \cdots, n$, are given continuous functions on $D=[0 \times X] *[0 \times T]$ and $E=(x, y, r, s, u): 0 \leq r \leq x \leq X$, $0 \leq s \leq t \leq T,-\infty \leq u \leq \infty$ and it has the following degenerate form,

$$
\begin{equation*}
K_{i, j}(x, y, r, s)=\sum_{m=1}^{p} a_{m}(x, t) b_{m}\left(r, s, u_{j}(r, s)\right), i=1,2, \cdots n, j=1,2, \cdots n \tag{1.2}
\end{equation*}
$$

In [8, Pachpattei has discussed the existence, uniqueness and other properties of solutions of Volterra integral and integro-differential equations in two variables. Han and Zhang [9] studied the asymptotic error expansion of two-dimensional Volterra integral equation by iterated collocation. Tari [7] presented the existence and uniqueness solution of nonlinear volterra partial integral and integro-differential equations. In [10], Kwapisz discussed the weighted norms and existence and uniqueness of $L_{p}$ solutions for integral equations in several variables. Also, some numerical approaches can be found out in the literature for different two dimensional nonlinear volterra partial integral and integrodifferential equations (one can refer $[11-15]$ ).

In [16], authors have applied two dimensional differential transform method[TDDTM] for solving (1.1). Though the TDDTM is a fine tool to acquire analytical solution of higher dimensional problems, it also comes across some deficiencies like it operates the multivariable function with respect to all of their independent variables which leads to complicated computation and consuming more time. To avoid these kind of difficulties, Keskin [17] introduced the reduced differential transform method[RDTM] and it operates the multivariable function with respect to desired variable so that it reduces the computational size. Several works have been carried out by this method in the recent years for various nonlinear problems (see [11, 18 -22$]$ and references therein).

In this work, we use the RDTM to solve (1.1) by giving extension to the theorem which was given by $[7]$ and [11]. To show the proficiency of the proposed method, we compare the results obtained by the RDTM and the existing results by TDDTM [16.

## 2. Reduced Differential Transform Method

As in reference [11] and [17], the basic definition of the RDTM is introduced as follows:
Consider a function of two variables $w(x, t)$, and suppose that it can be represented as a product of two single-variable function, that is, $w(x, t)=f(x) g(t)$. Based on the properties of one dimensional differential transform, the function $w(x, t)$ can be represented as,

$$
w(x, t)=\sum_{i=0}^{\infty} F(i) x^{i} \sum_{j=0}^{\infty} G(j) x^{j}=\sum_{k=0}^{\infty} U_{k}(x) t^{k},
$$

where $U_{k}(x)$ is called t-dimensional spectrum function of $\mathrm{u}(\mathrm{x}, \mathrm{t})$.
The reduced differential transform of an analytic function $u(x, t)$ at $t=0$ is defined as,

$$
\begin{equation*}
U_{k}(x)=\frac{1}{k!}\left[\frac{\partial^{k} u(x, t)}{\partial t^{k}}\right]_{t=0}, \tag{2.1}
\end{equation*}
$$

where $u(x, t)$ is the original function and $U_{k}(x)$ is the transformed function.
The reduced differential inverse transform of $U_{k}(x)$ is defined as,

$$
\begin{equation*}
u(x, t)=\sum_{k=0}^{\infty} U_{k}(x) t^{k} \tag{2.2}
\end{equation*}
$$

and from (2.1) and (2.2), we have,

$$
\begin{equation*}
u(x, t)=\sum_{k=0}^{\infty} \frac{1}{k!}\left[\frac{\partial^{k} u(x, t)}{\partial t^{k}}\right]_{t=0} t^{k} . \tag{2.3}
\end{equation*}
$$

The fundamental theorems that can be deduced from (2.1) and (2.2) are given in the 1. (11, 17):

Table 1. Fundamental theorems of RDTM

| S. No | Original function | Transformed function |
| :---: | :--- | :--- |
| 1 | $w(x, t)=u(x, t) \pm v(x, t)$ | $W_{k}(x)=U_{k}(x) \pm V_{k}(x)$ |
| 2 | $w(x, t)=\alpha u(x, t)$ | $W_{k}(x)=\alpha U_{k}(x)$ |
| 3 | $w(x, t)=x^{m} t^{n}$ | $W_{k}(x)=x^{m} \delta(k-n)$ |
| 4 | $w(x, t)=x^{m} t^{n} u(x, t)$ | $W_{k}(x)=x^{m} U_{k-n}(x)$ |
| 5 | $w(x, t)=\frac{\partial^{r} u(x, t)}{\partial t^{r}}$ | $W_{k}(x)=(k+1)(k+2) \ldots(k+r) U_{k+r}(x)=\frac{(k+r)!}{k!} U_{k+r}(x)$ |
| 6 | $w(x, t)=\frac{\partial u(x, t)}{\partial x}$ | $W_{k}(x)=\frac{\partial}{\partial x}\left(U_{k}(x)\right)$ |
| 7 | $w(x, t)=u(x, t) v(x, t)$ | $W_{k}(x)=\sum_{r=0}^{k} U_{r}(x) V_{k-r}(x)$ |
| 8 | $w(x, t)=\int_{0}^{x} \int_{0}^{t} u(r, s) d r d s$ | $W_{k}(x)= \begin{cases}0, & \mathrm{k}=0, \\ \int_{0}^{x} \frac{U_{k-1}(r)}{k} d r, & \mathrm{k} \geq 1 .\end{cases}$ |

## 3. New Property of RDTM

In this section, we give the extension of the theorem which was given by $[7]$ and 11 for solving (1.1).

Theorem 3.1. If $w(x, t)=\int_{0}^{x} \int_{0}^{t} u_{1}(r, s) u_{2}(r, s) u_{3}(r, s) \ldots \ldots u_{n-1}(r, s) u_{n}(r, s) d r d s$ then

$$
\begin{aligned}
& W_{k}(x)= \frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{n-1}=0}^{k_{n-2}} \sum_{k_{n-2}=0}^{k_{n-3}} \ldots \sum_{k_{3}=0}^{k_{2}} \sum_{k_{2}=0}^{k_{1}} U_{1_{\left[k_{n-1}\right]}}(r) U_{2_{\left[k_{n-2}-k_{n-1}\right]}}(r) U_{3_{\left[k_{n-3}-k_{n-2}\right]}}(r) \ldots\right. \\
& U_{n-2_{\left[k_{2}-k_{3}\right]}}(r) U_{n-1}(r) U_{\left[k_{1}-k_{2}\right]} \\
&\left.n_{\left[k-k_{1}-1\right]}(r)\right] d r
\end{aligned}
$$

Proof. This theorem will be proved by Mathematical induction.
For $n=2$,

$$
w(x, t)=\int_{0}^{x} \int_{0}^{t} u_{1}(r, s) u_{2}(r, s) d r d s
$$

We write the above equation by Leibnitz rule as,

$$
\begin{aligned}
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]= & \frac{\partial^{k}}{\partial t^{k}}\left[\int_{0}^{x} \int_{0}^{t} u_{1}(r, s) u_{2}(r, s) d s\right] \\
= & \int_{0}^{x} \frac{\partial^{k-1}}{\partial t^{k-1}}\left[u_{1}(r, t) u_{2}(r, t)\right] d r, \\
= & \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \frac{(k-1)!}{k_{1}!\left(k-k_{1}-1\right)!} \frac{\partial^{k_{1}}}{\partial t^{k_{1}}}\left[u_{1}(r, t)\right] \frac{\partial^{k-k_{1}-1}}{\partial t^{k-k_{1}-1}}\left[u_{2}(r, t)\right]\right] d r, \\
k!W_{k}(x)= & \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \frac{(k-1)!}{k_{1}!\left(k-k_{1}-1\right)!} U_{1_{\left[k_{1}\right]}}(r)\left(k_{1}\right)!\left(k-k_{1}-1\right)!U_{2_{\left[k-k_{1}-1\right]}}(r)\right] d r, \\
& W_{k}(x)=\frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} U_{1_{\left[k_{1}\right]}}(r) U_{2_{\left[k-k_{1}-1\right]}}(r)\right] d r
\end{aligned}
$$

Therefore, this theorem holds for $n=2$.
For $n=3$,

$$
w(x, t)=\int_{0}^{x} \int_{0}^{t} u_{1}(r, s) u_{2}(r, s) u_{3}(r, s) d r d s
$$

By Leibnitz rule, we write the above equation as,

$$
\begin{aligned}
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)] & =\frac{\partial^{k}}{\partial t^{k}}\left[\int_{0}^{x} \int_{0}^{t} u_{1}(r, s) u_{2}(r, s) u_{3}(r, s) d r d s\right] \\
& =\int_{0}^{x}\left[\frac{\partial^{k-1}}{\partial t^{k-1}} u_{1}(r, t) u_{2}(r, t) u_{3}(r, t)\right] d r \\
& =\int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \frac{(k-1)!}{k_{1}!\left(k-k_{1}-1\right)!} \frac{\partial^{k_{1}}}{\partial t^{k_{1}}}[g(r, t)] \frac{\partial^{k-k_{1}-1}}{\partial t^{k-k_{1}-1}}\left[u_{3}(r, t)\right]\right] d r
\end{aligned}
$$

where $g(x, t)=u_{1}(r, t) u_{2}(r, t)$.

$$
\begin{aligned}
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]= & \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} \frac{(k-1)!}{k_{1}!\left(k-k_{1}-1\right)!} \frac{\left(k_{1}\right)!}{k_{2}!\left(k_{1}-k_{2}\right)!} \times\right. \\
& \left.\frac{\partial^{k_{2}}}{\partial t^{k_{2}}}\left[u_{1}(r, t)\right] \frac{\partial^{k_{1}-k_{2}}}{\partial t^{k_{1}-k_{2}}}\left[u_{2}(r, t)\right] \frac{\partial^{k-k_{1}-1}}{\partial t^{k-k_{1}-1}}\left[u_{3}(r, t)\right]\right] d r .
\end{aligned}
$$

Using (2.1) in the above equation, we get,

$$
\begin{aligned}
k!W_{k}(x)= & \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} \frac{(k-1)!\left(k_{1}\right)!\left(k_{2}\right)!\left(k_{1}-k_{2}\right)!\left(k-k_{1}-1\right)!}{\left(k_{1}\right)!\left(k-k_{1}-1\right)!\left(k_{2}\right)!\left(k_{1}-k_{2}\right)!} \times\right. \\
& \left.U_{1_{\left[k_{2}\right]}}(r) U_{2_{\left[k_{1}-k_{2]}\right]}}(r) U_{\left.3_{\left[k-k_{1}-1\right]}(r)\right]}\right] d r \\
W_{k}(x)= & \frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} U_{1_{\left[k_{2}\right]}}(r) U_{2_{\left[k_{1}-k_{2}\right]}}(r) U_{3_{\left[k-k_{1}-1\right]}}(r)\right] d r
\end{aligned}
$$

Therefore, theorem holds for $n=3$.
For $n=4$,

$$
w(x, t)=\int_{0}^{x} \int_{0}^{t} u_{1}(r, s) u_{2}(r, s) u_{3}(r, s) u_{4}(r, s) d r d s
$$

By Leibnitz rule, we write the above equation as,

$$
\begin{gathered}
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]=\frac{\partial^{k}}{\partial t^{k}}\left[\int_{0}^{x} \int_{0}^{t} u_{1}(r, s) u_{2}(r, s) u_{3}(r, s) u_{4}(r, s) d r d s\right] \\
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]=\int_{0}^{x} \frac{\partial^{k-1}}{\partial t^{k-1}}\left[u_{1}(r, t) u_{2}(r, t) u_{3}(r, t) u_{4}(r, t)\right] d r \\
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]=\int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \frac{(k-1)!}{k_{1}!\left(k-k_{1}-1\right)!} \frac{\partial^{k_{1}}}{\partial t^{k_{1}}}\left[g_{1}(r, t)\right] \frac{\partial^{k-k_{1}-1}}{\partial t^{k-k_{1}-1}}\left[u_{4}(r, t)\right]\right] d r
\end{gathered}
$$

where $g_{1}(r, t)=u_{1}(r, t) u_{2}(r, t) u_{3}(r, t)$.

$$
\begin{aligned}
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]= & \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} \frac{(k-1)!}{k_{1}!\left(k-k_{1}-1\right)!} \frac{\left(k_{1}\right)!}{\left(k_{2}\right)!\left(k_{1}-k_{2}\right)!} \times\right. \\
& \left.\frac{\partial^{k_{2}}}{\partial t^{k_{2}}}\left[g_{2}(r, t)\right] \frac{\partial^{k_{1}-k_{2}}}{\partial t^{k_{1}-k_{2}}}\left[u_{3}(r, t)\right] \frac{\partial^{k-k_{1}-1}}{\partial t^{k-k_{1}-1}}\left[u_{4}(r, t)\right]\right] d r
\end{aligned}
$$

where $g_{2}(r, t)=u_{1}(r, t) u_{2}(r, t)$.

$$
\begin{aligned}
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]= & \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} \sum_{k_{3}=0}^{k_{2}} \frac{(k-1)!}{k_{1}!\left(k-k_{1}-1\right)!} \frac{\left(k_{1}\right)!}{k_{2}!\left(k_{1}-k_{2}\right)!} \frac{\left(k_{2}\right)!}{\left(k_{3}\right)!\left(k_{2}-k_{3}\right)!} \times\right. \\
& \left.\frac{\partial^{k_{3}}}{\partial t^{k_{3}}}\left[u_{1}(r, t)\right] \frac{\partial^{k_{2}-k_{3}}}{\partial t^{k_{2}-k_{3}}}\left[u_{2}(r, t)\right] \frac{\partial^{k_{1}-k_{2}}}{\partial t^{k_{1}-k_{2}}}\left[u_{3}(r, t)\right] \frac{\partial^{k-k_{1}-1}}{\partial t^{k-k_{1}-1}}\left[u_{4}(r, t)\right]\right] d r \\
\frac{\partial^{k}}{\partial t^{k}}[w(x, t)]= & \int_{0}^{x}\left[\frac{1}{k!} \sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} \sum_{k_{3}=0}^{k_{2}} \frac{(k-1)!\left(k_{1}\right)!\left(k_{2}\right)!\left(k_{3}\right)!\left(k_{2}-k_{3}\right)!\left(k_{1}-k_{2}\right)!\left(k-k_{1}-1\right)!}{k_{1}!\left(k-k_{1}-1\right)!k_{2}!\left(k_{1}-k_{2}\right)!k_{3}!\left(k_{2}-k_{3}\right)!} \times\right. \\
& \left.U_{1_{\left(k_{3}\right)}}(r) U_{2_{\left(k_{2}-k_{3}\right)}}(r) U_{3_{\left(k_{1}-k_{2}\right)}}(r) U_{4_{\left(k-k_{1}-1\right)}}(r)\right] d r \\
W_{k}(x)= & \frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} \sum_{k_{3}=0}^{k_{2}} U_{1_{\left(k_{3}\right)}}(r) U_{2_{\left(k_{2}-k_{3}\right)}}(r) U_{3_{\left(k_{1}-k_{2}\right)}}(r) U_{4_{\left(k-k_{1}-1\right)}}(r)\right] d r
\end{aligned}
$$

In general,

$$
\begin{gathered}
W_{k}(x)=\frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{n-1}=0}^{k_{n-2}} \sum_{k_{n-2}=0}^{k_{n-3}} \ldots \ldots \sum_{k_{3}=0}^{k_{2}} \sum_{k_{2}=0}^{k_{1}} U_{1_{\left[k_{n-1}\right]}}(r) U_{2_{\left[k_{n-2}-k_{n-1}\right]}}(r) U_{3_{\left[k_{n-3}-k_{n-2}\right]}}(r)\right. \\
\left.\ldots \ldots U_{n-2}{ }_{\left[k_{2}-k_{3}\right]}(r) U_{n-1_{\left[k_{1}-k_{2}\right]}}(r) U_{n_{\left[k-k_{1}-1\right]}}(r)\right] d r
\end{gathered}
$$

which completes the proof.

## 4. Description of the method

In this section, we present the RDTM for solving (1.1).
By taking reduced differential transform on both sides of (1.1), we have,

$$
\begin{equation*}
R D T\left[f_{i}(x, t)+\sum_{j=0}^{n} \int_{0}^{t} \int_{0}^{x} k_{i, j}\left(x, y, r, s, u_{j}(r, s)\right) d r d s=u_{i}(x, t)\right], i=1,2,3, \cdots, n \tag{4.1}
\end{equation*}
$$

Applying the fundamental theorems into (4.1), we obtain the following recurrence relation,

$$
\begin{equation*}
F_{n_{(k)}}(x)+\frac{1}{k} G_{n_{(k)}}(x)=U_{n_{(k)}}(x), \tag{4.2}
\end{equation*}
$$

where $F_{n_{(k)}}(x), G_{n_{(k)}}(x)$ and $U_{n_{(k)}}(x)$ are the transformed functions of

$$
f_{n}(x, t), \int_{0}^{t} \int_{0}^{x} k_{i, j}\left(x, y, r, s, u_{j}(r, s)\right) d r d s
$$

and $u_{i}(x, t)$ respectively.
By iterative calculations on (4.2), we obtain the values of $U_{1_{(k)}}(x) \ldots U_{n_{(k)}}(x)$ as,

$$
\begin{gather*}
U_{1_{(0)}}(x)=\eta_{0}(x), U_{1_{(1)}}(x)=\eta_{1}(x), U_{1_{(2)}}(x)=\eta_{2}(x), U_{1_{(3)}}(x)=\eta_{3}(x), \ldots \ldots \\
U_{2_{(0)}}(x)=\alpha_{0}(x), U_{2_{(1)}}(x)=\alpha_{1}(x), U_{2_{(2)}}(x)=\alpha_{2}(x), \ldots \ldots \\
\vdots \\
U_{n_{(0)}}(x)=\beta_{0}(x), U_{n_{(1)}}(x)=\beta_{1}(x), U_{n_{(2)}}(x)=\beta_{2}(x), \ldots \ldots \tag{4.3}
\end{gather*}
$$

One can get the solution of (1.1) by substituting (4.3) into (2.2).

## 5. Illustrative Examples

Two different test examples are considered in this section to illustrate the effectiveness of the RDTM.

Example 5.1. Consider the nonlinear system of Volterra integral equations,

$$
\begin{align*}
& u(x, t)=x^{2} t-\frac{x^{5} t^{3}}{15}-\frac{x^{10} t^{7}}{70}+\int_{0}^{x} \int_{0}^{t}[u(r, s)]^{2}+[v(r, s)]^{3} d r d s \\
& v(x, t)=x^{3} t^{2}+\frac{x^{7} t^{5}}{35}-\frac{x^{7} t^{4}}{28}+\int_{0}^{x} \int_{0}^{t}[u(r, s)]^{3}-[v(r, s)]^{2} d r d s \tag{5.1}
\end{align*}
$$

whose exact solution was found to be [16]:

$$
\begin{equation*}
u(x, t)=x^{2} t ; v(x, t)=x^{3} t^{2} \tag{5.2}
\end{equation*}
$$

By taking the reduced differential transform on both sides of (5.1), the following recurrence relation is obtained.

$$
U_{k}(x)=x^{2} \delta(k-1)-\frac{x^{15}}{15} \delta(k-3)-\frac{x^{10}}{70} \delta(k-7)+\frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} U_{k_{1}}(r) U_{k-k_{1}-1}(r)\right] d r+
$$

$$
\begin{gather*}
\frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} V_{k_{2}}(r) V_{k_{1}-k_{2}}(r) V_{k-k_{1}-1}(r)\right] d r  \tag{5.3}\\
V_{k}(x)=x^{3} \delta(k-2)+\frac{x^{7}}{35} \delta(k-5)-\frac{x^{7}}{28} \delta(k-4)+\frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} \sum_{k_{2}=0}^{k_{1}} U_{k_{2}}(r) U_{k_{1}-k_{2}}(r) U_{k-k_{1}-1}(r)\right] d r- \\
\frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} V_{k_{1}}(r) V_{k-k_{1}-1}(r)\right] d r \tag{5.4}
\end{gather*}
$$

By iterative calculations on (5.3) and (5.4), we have,

$$
U_{k}(x)=\left\{\begin{array}{ll}
x^{2}, & k=1,  \tag{5.5}\\
0, & \text { otherwise }
\end{array} \quad V_{k}(x)= \begin{cases}x^{3}, & k=2 \\
0, & \text { otherwise }\end{cases}\right.
$$

Substituting (5.5) into (2.2), we have,

$$
\begin{equation*}
u(x, t)=x^{2} t ; v(x, t)=x^{3} t^{2} \tag{5.6}
\end{equation*}
$$

which is the exact solution of the problem.

(a) Plot of the surface $u(x, t)=x^{2} t$

Figure 1. Graphical representation of the solutions $u(x, t)=x^{2} t$ and $v(x, t)=x^{3} t^{2}$

Example 5.2. Consider the nonlinear system of Volterra integral equations,

$$
\begin{gather*}
u(x, t)=e^{x} t+\frac{x^{2}}{2}-\frac{t^{3}}{6}+\frac{e^{2 x} t^{3}}{6}-\frac{x^{2} e^{t}}{2}+\int_{0}^{t} \int_{0}^{x}\left[v(r, s)-[u(r, s)]^{2}\right] d r d s \\
v(x, t)=x e^{t}-\frac{x^{2}}{2}+\frac{t^{2}}{2}-\frac{e^{x} t^{2}}{2}+\frac{x^{2} e^{t}}{2}+\int_{0}^{t} \int_{0}^{x}[u(r, s)-v(r, s)] d r d s \tag{5.7}
\end{gather*}
$$

whose exact solution was found to be [16]:

$$
\begin{equation*}
u(x, t)=e^{x} t ; v(x, t)=x e^{t} . \tag{5.8}
\end{equation*}
$$

By taking the reduced differential transform on both sides of (5.7), the following recurrence relation is obtained.

$$
\begin{align*}
U_{k}(x)= & e^{x} \delta(k-1)+\frac{x^{2}}{2} \delta(k-0)-\frac{\delta(k-3)}{6}+\frac{e^{2 x} \delta(k-3)}{6}-\frac{x^{2}}{2 k!} \\
& -\frac{1}{k} \int_{0}^{x}\left[\sum_{k_{1}=0}^{k-1} U_{k_{1}}(r) U_{k-k_{1}-1}(r)\right] d r+\int_{0}^{x} \frac{V_{k-1}(r)}{k} d r .  \tag{5.9}\\
V_{k}(x)=- & \frac{x^{2} \delta(k-0)}{2}+\frac{\delta(k-2)}{2}-\frac{e^{x} \delta(k-2)}{2}+\frac{x^{2}}{2 k!}+\frac{1}{k} \int_{0}^{x} U_{k-1}(r) d r \\
& +\frac{x}{k!}-\int_{0}^{x} \frac{V_{k-1}(r)}{k} d r . \tag{5.10}
\end{align*}
$$

By iterative calculations on (5.9) and (5.10), we have,

$$
\begin{gather*}
U_{k}(x)= \begin{cases}e^{x}, & k=1, \\
0, & \text { otherwise } .\end{cases} \\
V_{0}(x)=x, V_{1}(x)=x, V_{2}(x)=\frac{x}{2!}, V_{3}(x)=\frac{x}{3!} \ldots \ldots \ldots \cdots \tag{5.11}
\end{gather*}
$$

Substituting (5.11) into (2.2), we have,

$$
\begin{equation*}
u(x, t)=e^{x} t, v(x, t)=x e^{t} \tag{5.12}
\end{equation*}
$$

which is the exact solution of the problem.

$\begin{array}{ll}\text { (a) Plot of the surface } u(x, t)=e^{x} t & \text { (b) Plot of the surface } v(x, t)=x e^{t}\end{array}$


Figure 2. Graphical representation of the solutions $u(x, t)=e^{x} t$ and $v(x, t)=x e^{t}$

## 6. Conclusion

We presented a new property of RDTM and it was successfully applied to solve the system of two dimensional highly nonlinear Volterra integral equations. From the solution of examples, we can see that RDTM and TDDTM have given the same exact solution. Although solutions obtained by RDTM and TDDTM are same, RDTM has significant advantage over TDDTM that is RDTM generates the solution of the nonlinear problem by operating the multivariable function with respect to a desired variable only not on all of their independent variables unlike in TDDTM. Due to this reason RDTM reduces the time consumption than TDDTM.

## References

[1] M.V.K. Chari and S.J. Salon, Numerical Methods in Electromagnetism, Academic Press (2000).
[2] A. J. Jerri, Introduction to Integral Equations with Applications, 2nd ed.Wiley, New York (1999).
[3] T. S. Sankar and V. I. Fabrikant, Investigations of a two-dimensional integral equation in the theory of elasticity and electrostatics, J. Mec. Theor. Appl., 2 (1983) 285-299.
[4] V. M. Aleksandrov and A. V. Manzhirov, Two-dimensional integral equations in applied mechanics of deformable solids, J. Appl. Mech. Tech. Phys., 5 (1987) 146-152.
[5] A. V. Manzhirov, Contact problems of the interaction between viscoelastic foundations subject to ageing and systems of stamps not applied simultaneously, Prikl. Matem. Mekhan., 4 (1987) 523-535.
[6] Q. Tang and D. Waxman, An integral equation describing an asexual population in a changing environment, Nonlinear Anal., 53 (2003), 683-699.
[7] A. Tari, On the existence uniqueness and solution of the nonlinear Volterra partial integro-differential Equations, Inter. J. Nonlinear Sci., 16 (2013), no.2, 152-163.
[8] B. G. Pachpatte, Volterra integral and integro differential equations in two variables, J. Inequal. Pure Appl. Math., 10 (2009), no. 4, 1-10.
[9] G. Q. Han and L. Q. Zhang, Asymptotic error expansion of two-dimensional Volterra integral equation by iterated collocation, Appl. Math. Comput., 61 (1994), no. 2-3, 269-285.
[10] M.Kwapisz, Weighted norms and existence and uniqueness of $L_{p}$ solutions for integral equations in several variables, J. Differ. Equ., 97 (1992), 246-262.
[11] R. Abazari and A. Klman, Numerical study of two-dimensional Volterra integral equations by RDTM and comparison with DTM, Abstr. Appl. Anal., 2013, Art. ID 929478, 10 pp.
[12] H. Brunner and J.P. Kauthen, The numerical solution of two-dimensional Volterra integral equations by collocation and iterated collocation, IMA J. Numer. Anal., 9 (1989), 47-59.
[13] M. Hadizadeh and N. Moatamedi, A new differential transformation approach for two-dimensional Volterra integral equations, Inter. J. Comput. Math., 84 (2007), no. 4, 515-526.
[14] A. Tari, M.Y. Rahimi, S. Shahmorad and F. Talati, Solving a class of two-dimensional linear and nonlinear Volterra integral equations by the differential transform method, J. Comput. Appl. Math., 228 (2009), no. 1, 70-76.
[15] B. Jang, Comments on "Solving a class of two-dimensional linear and nonlinear Volterra integral equations by the differential transform method", J. Comput. Appl. Math., 233 (2009), no. 2, 224230.
[16] M. Tavassoli Kajani and N. Akbari Shehni, Solutions of two dimensional integral equation systems by differential transform method, Appl. Math. Comput. Eng., ISBN: 978-960-474-270-7, 74-77.
[17] Y. Keskin and G. Oturanc, Reduced differential transform method for partial differential equations, Int. J. Nonlinear Sci. Numer. Simul., 10 (2009), no. 6, 741-749.
[18] Y. Keskin and G. Oturanc, Reduced differential transform method for solving linear and nonlinear wave equations, Iran. J. Sci. Technol. Trans. A Sci., 34 (2010), no. 2, 113-122.
[19] A. Saravanan and N. Magesh, A comparison between the reduced differential transform method and the Adomian decomposition method for the Newell-Whitehead-Segel equation, J. Egyptian Math. Soc., 21 (2013), no. 3, 259-265.
[20] N. Magesh and A. Saravanan, The reduced differential transform method for solving the systems of two dimensional nonlinear Volterra integrodifferential equations, Proc. Int. Conf. Math. Sci., Elsevier, (2014), 217-220.
[21] A. Saravanan and N. Magesh, An efficient computational technique for solving the FokkerPlanck equation with space and time fractional derivatives, J. King Saud Univ. Sci., 28 (2016) no. 2, 160166.
[22] O. Acan, M. M. Al Qurashi and D. Baleanu, New exact solution of generalized biological population model, J. Nonlinear Sci. Appl., 10 (2017), no. 7, 3916-3929.

